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O ot s 110,000& = 12& 1,320
ONT - MM ROHHAAY PSS
220,000& = 2 = 12& 5,280
O2aXelAld |22 310,000& = 12& 3,720
401 AEHIZ 2] 116,232 246,040 A 129,808
01 Al&HI 116,232 245,248 A 129,016
OMPERAGSA N2 LA
250,000& = 100m 25,000
OAZEIIEA HI|2ol 2el3 At
8,000,000& * 14 8,000
OMACHT] 2t AlA 2,000& =~ 18,016m 36,032
O & MACT] ZEAT 25,200
~0IEFAMIZHOI OF 126,000& * 200 25,200
O=RZotA HagdM)| dE32 dUlSA 22,000
402 RI2tXE01 A 29,000 7,500 21,500
01 a2t 28x 29,000 7,500 21,500
OMZ X ZaEA X2 (20kg)
2,400& * 15,000& * 30/100 10,800
OMZAH MotsIt =X
2,600,000& * 14ha * 50/100 18,200
405 XH&HE SHI 1,221 3,637 N2,416
01 A& EEFHSHI 1,221 3,637 N2,416
OMACHR 2F2IAb & - )] Al
1,221,000& = 1CH 1,221
HYS2HHH (=S II=HH) 227,983 238,090 A 10,107
olHE2HH(sYI=HH) 177,776 173,121 4,655
oAU (sLII=HH) 177,776 173,121 4,655
101 Q124 4| 177,776 173,121 4,655
01 2= 59,606 63, 133 N3,527
OsgIlIsdH A2 59,606
Il XI& 0 (22A124) 36,442
AN DH(16A12E) 23,164
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SN sAIsME
M BHSYFH (SLIISMH)
Sl ol el (SYIISME)
SN - B E(3H) - NREAY - BAS Off AF ot =t
Off &k o
03 RIAHAZZNHE = 118,170 109,988
OJlazs oL 24,638
-l 23 39,355& * 13 » 249 9,800
g 9,799,39%& * 1/3 3,267
—ARQI 2R g
7,379& * 1 * 20A[2t « 128 1,771
-5 39,355& * 1H = 116 4,566
-RYIFRE 59,030& * 1 = 12 709
-AXt=rE 39,355%& « 1 » 18¢ 709
-HEFOtHH| 300,000& = 1H = 23l 600
—ZHSAHI 50,000& * 12& 600
-wWE2 & 60,000& » 1H = 123 720
-bELY 720
HH < Kt 40,0002 » 1 = 123 480
-Jl B 20,000& * 14 » 12& 240
23 9,799,39%5% » 194 = 12/100 1,176
OsJlAH=eE2x 212 72,242
A 39,355& * 3F x 249 29,399
Y=g 29,398,185& = 1/3 9,800
RN,
7,379& * 3H * 20A[2t « 128 5,313
T 39,355% * 3F x 116 13,696
-RYI2RsE 59,0333 * 3H » 12¢ 2,126
-AXt=rE 39,355%& * 3% » 17¢ 2,008
23 9,799,39%5%  3¥ x 10/100 2,940
-HEFOHY| 300,000& = 3H = 23| 1,800
- M ZAlY| 50,000& * 3H = 123 1,800
-E2 2| 60,000&  3H = 123 2,160
-JtE==2 (018 20,000& * 594 » 123 1,200
OF A28 21,290
-l 238 32,800& * 19¥ * 249 8,168
A= 8.167,200& * 1/3 2,723
-AI2HQI 2 R4 g
6,150 * 1Y * 20A[2t ~ 128 1,476
=54 32,800& * 198 * 116 3,805
-SYLIRsd 49,200% * 18 = 12 591
—AXt=g 32,800 » 1H = 20 656
-FE S| 300,000& = 1% * 23| 600
- MG AH| 50,000& * 14 * 12& 600
-wES 22| 60,000& * 18 * 12& 720
-JtE=g(0IEH 20,000& * 29 * 12& 480
) PN 8,167,200& * 1% * 18/100 1,471
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2N sgII=HH
HE: WHSAAY| (S SHE)
&l JI23H(sY2IsdH) (etel: =3
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
Jl2Zdl(sellsHH) 50,207 64,969 A 14,762
Jl2ZHl(sJIsHH) 50,207 64,969 A 14,762
201 Let2d| 40,307 40,417 A110
01 AtE22(Hl 35,468 40,417 A 4,949
O Al 50,000& * 2% * 116¥ 11,600
OUu=2RsEE 3,060
-SYH=2 15,000& * 3% * 12& 540
-Xgaz 13,0003 * 152 * 128 2,340
-Xg a2 5,000& = 32 * 128 180
OJlE2=+2H| 11,016
-Jl=XI& 5,832
el =) 5,184
OJl=sEl 9,792
-Jls X3 5,184
—H 20t 4,608
02 =234l 4,839 0 4,839
ONse3a 1,914
ERI 2,925
202 O4Hl 4,320 18,360 A 14,040
01 SUWHYI 4,320 2,160 2,160
OJl=Xgn JI2ge=H 2,160
Og-igw J=2gdRfFd 2,160
203 HRF&H| 5,580 6,192 AB12
02 HAINMIRF=EHI 1,368 2,412 A 1,044
OXA AJIXZ A
40,000& » 38 * 90/100 1,368
04 RAN2IHRFAH 4,212 3,780 432
Osgllsdd FA2IYRFAH| 4,212
-Jl= X3 195,000& = 128 * 90/100 2,106
- 20t 195,000& = 128 * 90/100 2,106
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